

Maisonette in Pembroke



Pembroke, Sliema and St Julians Surroundings



€698,000

Reference No: 240231027-193

 Total Rooms: **7**

 Floor Area (m²) : **115**

 Bathrooms: **2**

 Bedrooms: **3**

Maisonette - For Sale - Pembroke

PEMBROKE - MAISONETTE including 1 CAR SPACE located close to the school and just 1 minute away from the seafront. The accommodation comprises a spacious open plan Kitchen/Living/Dining area, a Bathroom, 3 double Bedrooms (main with En-Suite) and a 25sqm back Yard ideal for entertainment. This never-lived-in property is being sold FREEHOLD, fully furnished, air-conditioned and ready to move into. Viewings can take place immediately.

Features

- ✓ Kitchen/Dinette
- ✓ Electricity Utility
- ✓ Back Yard
- ✓ En Suite
- ✓ A/C

Rooms

- ✓ Double Bedroom : 4 x 3.41 m (13.64 m²)
- ✓ Double Bedroom : 3.2 x 4 m (12.8 m²)
- ✓ Double Bedroom : 3.51 x 3.22 m (11.3 m²)
- ✓ Bathroom Ensuite : 2.34 x 1.3 m (3.04 m²)
- ✓ Bathroom : 2.38 x 1.75 m (4.17 m²)
- ✓ Workshop : 1.3 x 1.79 m (2.33 m²)
- ✓ Kitchen/Living/Dining : 5.19 x 5.98 m (31.04 m²)
- ✓ Open Space : 6.79 x 3.9 m (26.48 m²)

Gallery







Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta